8.) Let F(x,y) = <P(x.y), Q(x.y)>.

Under what conditions is [, F-dr = [ P(x,y)dx + Q(x,y)dy independent of path?
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9.) Find the work done by F(x, y) = <9x%y?, 6x°y - 1> in moving an object from (0,0) to (5,9).
70 pa h Given boT 28 - /3,(?7,%_0 N copaevratt an
7

aAx
Wﬁ/ﬂ/ﬂ‘ ,
Paf.wxhé// /um.//?ffm Jf[xuﬂ = 3x \12—7 + K

= L2 0o
W:'fF'(JY-?: 3 x y "v J :@3'/2('%‘3"(?] - 0
c (0,0) -G = 30366

= 30 373

10.) Find f y?dx + xzdy where C is the boundary of the region lying between the graphs of
y=4xandy = X
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